Help Hoppy frog count on to the next multiple of ten
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Pretend that your finger is Hoppy Frog. Pick a 2 digit number. Put your
finger on the number, then see how many jumps he has to do until he lands
on the next lily pad. Do this to solve the calculations underneath. As you
are working, have a look at the numbers. Can you notice anything familiar?
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Did you notice our number bonds that make ten? In school we
have called these the friends who make ten. Look again above
and see if you can spot:

1+9 2+8 3+7 4+6
9+1 8 +2 7+3 6+4

So, we can use our number bonds to 10 to help us add
a 1-digit to a 2-digit number, to reach the next
multiple of 10.

Now that you know the secret, can you solve these
calculations quickly? You might be able to do it
without the 100 sauare!
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Well done! You did it!



